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Corrigé de l’exercice 1

Compléter :

◮1.
9 724

1 000
= 9,724

◮2.
4 343

1 000
= 4,343

◮3.
89 520

1 000
= 89,52

◮4.
2 080

10
= 208

◮5.
5 197

1 000
= 5,197

◮6.
8 641

1 000
= 8,641

Corrigé de l’exercice 2

Compléter :

◮1.
43 710

100
= 437,1

◮2.
47 200

1 000
= 47,2

◮3.
2 265

10
= 226,5

◮4.
86 070

1 000
= 86,07

◮5.
4 233

10
= 423,3

◮6.
8 716

100
= 87,16

Corrigé de l’exercice 3

Compléter :

◮1.
7 554

100
= 75,54

◮2.
1 211

1 000
= 1,211

◮3.
17 130

10 000
= 1,713

◮4.
1 766

1 000
= 1,766

◮5.
1 629

1 000
= 1,629

◮6.
25 490

10 000
= 2,549

Corrigé de l’exercice 4

Compléter :

◮1.
38 200

100
= 382

◮2.
35 140

100
= 351,4

◮3.
2 847

1 000
= 2,847

◮4.
1 506

1 000
= 1,506

◮5.
80 010

1 000
= 80,01

◮6.
6 750

10
= 675

Corrigé de l’exercice 5

Compléter :

◮1.
4 868

100
= 48,68

◮2.
355

1 000
= 0,355

◮3.
2 560

10 000
= 0,256

◮4.
4 805

100
= 48,05

◮5.
6 395

100
= 63,95

◮6.
5 230

100
= 52,3

Corrigé de l’exercice 6

Compléter :

◮1.
1 081

100
= 10,81

◮2.
8 064

10
= 806,4

◮3.
9 816

10
= 981,6

◮4.
53 910

100
= 539,1

◮5.
1 384

100
= 13,84

◮6.
76 500

100
= 765
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